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(1)

(i1

(111)

(iv)

(W)

(vi)

WUET F : SISV SFAEAY / U STFE

Section A : Unseen Reading Comprehension

Guer @ : WSS / TEHIES-SE
Section B : Writing Skills

GUgt T : TAYHATHUM / TGt SATH]

Section C : Applied Grammar -

TUs: ¥ : yfeq-sraaey / gfed-sEated

Section D : Reading Comprehension

SRHT T TR GUST Gl
59 ¥97-97 4 ¥R @S § |
The question paper has four sections.

Yfer@vey, AT A SRYRTHE AGHANT |
&% GUE & I & T Iw-Jhaw ¥ & foraa &

The answers have to be written in the answer-sheet.
9% GUSY AYFE ITNT THET T FHT AGAaT |
9% @V & I UF & I8 W FH § fo@d & |

The answers to each section must be written at one place.

FIT93 ST T AGAANT |
¥99-97 W IR 7 fer@ |
Don’t write answers in the question paper.

YT JUTTATARY VTR AGHaT |

Y¥9-U7 & SHR JvT-G& Havy & fore g

Write the question number according to the question paper.
T JVAAER ITAOT GEHAT a@anT |

g9t ¥yl & SR "EHd 7 [y |

Answer all the questions in Sanskrit.

12 37T

12 &

28 &

28 &



@ueT & (Section A)
Sufsaryr- raatgay (3ufeq- Jaaie) '
Unseen Reading Comprehension 12 3=
1. onifafaey sHeae U3 Yeauvar, §&hdd WA
frmfafad e & Teat U T ¥l & I d&pa o fafan -
Read the following passage and answer the given questions in Sanskrit :
TAE RN H< dHeAIgIey! fagEuT HAGHN Ed | 3
EHES, TEEE, RUNEE 9 9 | | T T W Raand
Tead R Seeraa | W W W §eel A Hee 99 i | S {Eieae
Td e 9 39 &N AT wa | 3 TEH g M s
foer<ERE W | FAFEa FeEiaddr A FEeraE ¥ T v |
g W A ot faeecqwfomar e mesfa | foeaequeean
foreageel 3fa T dftees: Woar | 3@ 9 AN S FRE YA TEd |9
T T AR etem of| @ smEREd TR YeRmH S 3fa fa
T | T T AEaEd gRE | SRS WUhd WY SReE A e &
SO TpfdeEs 9 |
oA
L. 3y W fowrn forad |
3fad s g fafag |

Choose and write the correct answer. 1x2=2
(%) 7T YT FH TSad Fed 2
(1) yfqHrEr
(i)  YRaaE=
(i) S
(iv) H9Ee
(@) SAFE<EE 9% $ey adqd 2
, @ fafersg
(i) RS
(iii) geiEEg
(iv)
II. qpiawﬁ? mw
of g § W i |
Answer in a complete sentence. 2x2=4

(i)  wEgA Ffer ey afe 2
(i)  wYEeR S Hiw et §7 Tl ?
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III.

Teafasersr 3faaq W fawn faed |
feu U fomedi § 9 3fam s g fafaw |

Choose and write the appropriate answer from the given options. Ix4=4

(F) ‘FEafaaar sfa favmoes & favrauey s ygwe 2

(i)  yfEmEr
(i)  Arwar
(i) fafeeq
(iv) I |
(@) ‘gmatw sfafmaes Fg9e ey 2
(i) g |
(i) gdq
(i) ST
(iv) ¥ |
(M) 37 FAAM TR G AE 2
(1) gar
(i) 3T
(iii)  =quoTy
(iv) §oUUTy |
(@ I 3 e & fdmie el T ?
(1) A -
(i) e
(iii) wae
(iv) &a: |

T IR Fl 3T ek Temiashedr fawn fomm |
T ITHE & AU & I Ve em fawed ¥ g fafae |

Choose and write the appropriate title for this passage from the
given options. Ix2=2

(i)  dfeEEIeRT
(i)  SRoMREq
(iii)  HAFHAA

(iv)  foawH<smey |




WUsT @ (Section B)

T AT (TEHTHE - 1)

Writing Skills . 12 3T

fqar &1 fo@ T ffafad 99 1 a9 § T T I & weEd § @ &
fafay .

Complete the following letter, written to your father, with the help of
the words given in the box and rewrite the same : , §><8=4

(1) |
fafar

ST (id) !
el w1 |

I FUA wg | 3} T A dfaveer 9fesfd aq Tafead
FfeadEaEaaeyaTaE F4 (i) W ey | ey
(iv) Y T VAW WY | I TN TEeREEn
affrerEm oY w T o e e | sfee 9 e o
& (V) |

39 Afdcwe: STMH-gEaR  SESTIEd | foEeEs ueer @ uE

(vi) Ay | oA WE YEA g A, W 6§ STEva
AeSg | A (vid) afesafc | HIGERUEE WHOYOTE |
| T T,
(viii) N
wesT

T, uEAaAfTaE, 9, ScRas, ¥aEY, UgEeiear, e,
H‘qﬁﬁﬁﬁ'l

5 PTG
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Y Wod fod gEAT HeSuIeHvIsEAl TEEadl gt G S fawd

9 few T fem @ avie wesw ® fRU MU v # Wedr ¥ R Uhd aed
T

Describe the following picture in four Sanskrit sentences with the help

of the words given in the box below : 2x4=8

fommer:, WA, Ao, W, afcsr, 9, TR, Y, ST,
Rweghwr, Imw, wdaE, e, SeRReE, STEy |
Fgar (OR)
Fad UREgeT (Fae e & fom)
For Blind Candidates only

TeSENETUeHEl WErAd fefafed fave sftee uqy SShaarRy UHH SR
fored -

e g T v & we § e v W AR g ae § O aes
fafer -

Write a paragraph in four Sanskrit sentences on the following topic with
the help of the words given in the box : 2x4=8

flopt I —E]
Hxhd it

T

faufor, o wawE, fafed wfewm, Fugew, =¥, @tEEEr, SR,
ATS-JEAA, AGERT S, Eahraor fEf, AReEH Foaay, T, TR |

0

=




52

efafgaaEy Wafgarey afd wfw=ss a1 Far foed

@Ug: T (Section C)

FATHATRIIY (HAH FATHT0)
Applied Grammar

frafafea g ¥ Taifea e § afy e sfeese =@ fafau .

28 &

Write the underlined words of the following sentences after joining
or disjoining Sandhis :

)
(ii)
(iii)
(iv)

Td S S yomis |
77 + 3fTd fshaam |
procicoriofice Calk vic ol

e + SR g e |
Fefifefaaary WafgaueH U fag a1 yeafasets: faan foawq

Ix4=4

frfafad ol & t@fga & & 99 sy e R U fawedt # @ e
fafae .

Choose and write the correct compound or expounded form of the

underlined words of the following sentences :

(%)

(@)

(m

fysemt 3 |
@) foFr 9 FoE 9
() I 9 Fo =

(i) foo = F& @ TR |
A < FOH T T JA9rT: S |

(i)  wfcEdH=r Fom

(i)  wfeeeRT

(iii) mﬁﬁr T |

37 ST A4S el @Rl |
() =M =

Gi) o dfeaq

(iii)) T G |

Ix6=6

P10,
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(9) o4 gyEr gEger ¥ fqadis |

(i)  gvEr ufger
(i)  TqHRE
(i) TR |
(8) & I IHRY TSA |
(i) A" gHq
(i) e iR
(i) T A |
@) U faer e 79 ¥ faRng TR e |
i)  fasisd:
(i)  eFdfdes
(i) o |

sifafgaaeay WEfsareH yHia-yodl H9asg fawsy a1 wqfaay s fawasr
faen foad -

frafafaa aedl # Y@ifsa 1@ & Ta-FEd @ S a1 §gE e 3fad W
fowedi § 9 g fafew .

Write the underlined words of the following sentences after joining or
disjoining suffixes to the roots or words. Choose the correct answer

from the given options : -é—x4=2
(F) T + 3G difcinr AT |

(1) T~

(1) e

(iii) T

(iv) = |
(@) ¥ & T |

(i) 3+ S

(i1) ST + 377
(iii)) 3 + 2
av) 39 + e |
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(M TE | + UG B TE@A Fa(d |

(i)  FE
(i)  HEEEH
(iii) TgEET
(v) EEEr |
(7) URemE e 99 SHa |
@)  wWeq + T
(i) ™ + T
(iii) weq +
(iv) #He + < |

frafafaa al § Fies & F<ria T T 93 & Yoia-yad # Sega fafau

Write the words of the following sentences after joining suffixes to

the roots or words given in the brackets : 1%2=2
G e (Fd + ) TRE e
(ii) (g + wg) R o <RAfA |

Sefefadaray e Fesmeewemadr e sreraver R faed
frfafaa s 3 s & qfa d9w § R T sfum o=l & 30 &ifT

Fill in the blanks in the following sentences with appropriate

indeclinables given in the box : I1x6=6
(1)  Hodt FgT __ FEERfd |

(i) I FOT 3T AT gfeT Fvad |

(iii) o I T A T e |

v) @&fF _  FF |

9 P.7:0.
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(v) feasmfe___  9rdE g6 stfaursian sfa |

(vi) F&d WOHT fRgd _ IR 9g9EnT |

Rl
qq, qEE, Fo, W, A9, V9 |

Sefaheds: SfaqaeETe @ I wad |
fer T fawedt # @ Sfad dEn W gAR g Ol ST

Choose the correct numerical words from the options given below and

complete the sentences.
(F) TEFA DET 3T, BT |
G  ==R
(i) IFE@G
i) =T
(iv) =quA |
(@) @ faar a9 =i |
i fae
)  Fifer
(iii) 7=
(v) 4
IUH FEer T 3MEA |
i
(1) THER
(i) T
(iv) UHE |
() E T gyt |
i =&
(i) g
(i) @
(iv) g9 |
10

Ix4=4



10. sifafgaasey (Eisarey e ofa | Feafosedsr 3faaq sw famr sReue
e foaeq -

AR few U e # et w© sRE ? | for T fawedt § ¥ 3fed W g
IS IS H HeEd R fArEw

Choose the correct answer from the given options and correct the

52

underlined incorrect words in the following sentences :

(%)

(@)

()

(%)

ar 9eErRYd 939 |

(i) T

(i) 939

(i) wf<

(iv) 9 |

59 7 fage ufesmE: |
(i) mm___
(i)  3¥eE

(iii) 39T

(iv) ufesm: |

g difeishl shisfd |

@ wer

(i)  =fe

(iii)  arer:

(iv) @ |

o Fq AeE FA ?
i)  seal

(i)  weEEr

(iii) —9vgYr

(iv) =3 |

11

Ix4=4

R.T.0.
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52 .

WuE: ¥ (Section D)
ufeq- srEateTy (ufed- raate) |
Reading Comprehension 28 3

sefafad Tare, Td, AReae 9 gfewn SeaueAHewnT forad
frfafed Ty, T iR ARIY # vga fu T v & W fafaw

Read the following prose, poetry and drama passages and answer the
given questions : '

(21

Tj_wéga’ﬁ%mw: ffsaqgt afd | @9 3 Fegveq M | )
feamar IgmRged 3fd A=d | 3 eI ot SR ey sy
qieq | 3TEATh WHeAfgIr Yanferdt  heifedq WfagRgeH g ufdwr g

BESIE

L

1L

I1I.

T TdeTRIe | Taw S SR s add | e gt |

THIST 3T |

& K § W AT |

Answer in one word. Lioo=1
(i)  TYAWEUE HET STHEE T ?

(i)  wwaEq gHfE add ?

qufaTeR 3T |

Ul g § W AN |

Answer in a complete sentence. 2
TRITEFIE FA A 7

fasedvr 3faaq W faan forad |

fagedi # ¥ 3fad 3w g fafay |

Choose and write the correct answer from the given options.}
—x2=1
2

(®) ‘e 3 wguew fRaree fe 2
(i) ST
(i) "=
(iii) =ed
(iv) & |

12



(3m)

RLLA

(@) TN 3 g e S 2
(i) Foswr
(1) TR
(iii) AT
(iv) TdeAfaumr |

g, T8 "R yorensty fager o)

AT

L

THIA I |
TF v H IW N | e |
~ Answer in one word. x2=1

IL.

HI

(i)  ygw g & ?

(i) TR R TR 9aq 3fa &1 a9y afa ?
qofarRA A |

T g 7 SR AN |

Answer in a complete sentence. 2
oSty faowar & w2

fopenser 3faaq s foen faew |

fosedi § @ 3fed s g foafan |

Choose and write the correct answer from the given options.l :
~x2=1
2

() ‘v sfafasioes favses g 2

1) ==
(i) fogme:
C(iii) gz
(iv) 3IERE |
(@) ‘o 3 W fF o wgw ?
i &Y
(i) zfd
(iii) TAQ
(iv) & |

13 P.TX
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€))

e — 9 | g wq wwR faefa wfa Ffy wder wer wes

W -
Aldiatie, Ssipailisn«d ?

TTged — 9T | SR 3 & ARG 2 3T avl iy e, &9 efy

Fhr — (vfoea, weRrem) 3T Y Ihadt Wadl ? A 3 FwmEvl: afg

II.

I1I.

I auf BigyE ? fergeds a0 HgwE 2 g | % g
NG FAATAT: | TG F-F S G Taeaty w6y =
fafrarsraty |

THYeH I |
TH I § 3w T |

Answer in one word. Loo=1
(i) Y9 e FE VA 2
(i) ToEw A foedfa &1 ?
qUiEmERE 3T |

ol g § I AT -

Answer in a complete sentence.

Hd: a0 I HA T TE B 2
fasedr: 3faay Iw o fomaa |

b

. foeedi # 9 3fea s g fafaw |

Choose and write the correct answer from the given op’cions.z
=x2=
2

(F) ‘weEfa’ 3 fRaies wgue e afa ?
() T
(i) 37w
(iii) TETs
(iv) e |
(@) SR q 3T HATWEAT 3 e 3 WAAIE HE WIH ?
1) TEEE
Gi) =z
(iii) SEE
(iv) ageEH |

14



12. sPeifafgamea Tfad 96 fawmeder faar foed -
frfafaa &Mt #9291 & 399w W fasedl § § g9 fafag .
Choose and write the correct gist of the following two sentences from
the given options : Ix2=2

(®) Aeifoas g &9 g9 9@l a6 |
(i) 9% %9 9 Ui YA 99fa |
(i) &9 9% 9 G oF Fsfy S AfE |
(i) U Fo= 9 7 {6 g & 9 5o ? 30 faoeg! & @ e
IHE 9 9¢ g¥ad |
(v) &% &K fyafa, s= & foafa |
(@) ‘gdd dshadq URECHE: Her |
(i) HER 9w T 9% Td SR |
(i)  wrer = 39 faer Tfeier fE |
(iii) el I el =shad FAT |
(iv) e IHT T TR |
13. v Wfad W8 faan sifafaavassad o g
oW H ¥ 9fad 98 e fefarad &Ml Tal & od @ Ul ST
Complete the prose order of the following two shlokas by choosing
the appropriate words given in the box : éx8=4 '

(F) AN 9 qq 9T W |
e AR Ty feRieer ol
Sis:
T | - (1) & W () syt
faRivar (iid) T T (iv) | '

(@) SafagHIed HAIE T " |
¥ ' wAEgHl g9 9 899 9 |

|
(Fa1) Sefagfaea (v) g2 (vi) (Fa)
FafaaE (vii) T 979 9 (viii) (@) T |

bt 11
wd, oy, gHe, Ay, A, WA, W, 399 |

52 15 P.T:O.



14. Y@fgdua My SeAHH Foa |

15.

16.

52

W@Ed W@ & ¥R | yya-fafor Hifse |

Frame the questions on the basis of the underlined words.

() P &9 o0 Fe G G S |

(i) aerdw o fGeeT &4 v |

(il) AR 79 WXE wag | |

(iv) Heew gy A wEt |

Seifafaat= st geAmRER foed

frafafad adl & e & # & IFgER fafay .

Write the following sentences in theilr sequential order :
() AT TR A Had FAC A |

(i) @k sgfr T oRgolr ST |

(il) UH ITUST A Haeq — Wo=il Hnd god ey 9T T vget ?

(iv) Y= A9Ta: aegse fomi 9 W= |
(v) @ gewond gmeR gfet |

(vi) dt fafeer Shed goar @ |

(vii) YeS=ToTer gEgRr SCA TG e |

(viii) ot 9nf shedr sToise, g Ega, — o | e fawd ot ey 2”7

tEfEaueHT, SaETaRy Y o foed |
WifFd 9 % FEMER g g fafee |

Ix4=4

Tiom
§X8—4

Choose and write the correct contextual meanings of the underlined

wo_rds.

(F) 9y 9P ! o % WYEIwar |
(i) 9% S
(i) g
(iii)  wrEEgfd
(iv) q |

(@ ‘afevfe e e e |
(i) qrET
(i) Yool HHer
(iii) @ gEEEq
(iv) S |

16

I1x2=2
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